Solutions Review
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2. In the fo]lowmk write E for Element, C for compound, HO for homogeneous and HE for heterogeneous

a. HOasolution of KCl and water . /& tin

b. E chromium g MO air

c. HE soil h. 4f3 sugar water
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e. HOsalt water ] @ 70% isopropyl alcohol

3. To distinguish the following, write E for electrolyte or NE for nonelectrolyte for each compound dissolved in water,
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4. What types of substances are electrolytes?  apid S o 1DYo S U\J:)S’{ZE/I/DQQS

What types of substances are non-electolyes? /o v il g ke b"é’{”ﬁﬂﬂf&j S
5. Draw a water molecule and explain why it is polar.
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6. You are making a 2 quart sofution of K‘f)o} ald (sifgar water) . What are Ehree thmgs that you cay do to increase the time it takes to
dissolve? (You may not change the final concentration of the Kool-aid)
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7. You pour canola oil and water together and they separate/do not mix. The formula for canola oil is C22H4202 Why does canola oil

not mix with water? (Hint: Use bonding type and “likes disso]ves likes™ in your answer
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8. Write the d}ssocmtlon for each molecule that will dissociate. If dissociation does not occur, write “no dissociation”
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Model the dissolution of 3 particles of each compound that will dissolve in water. Pay atiention to the charges and proportions.

) 7 N e 3 7
" ( 9 ey o 6 _
® 136" w é)/ @gy@ ‘i \
o ' N / : @} A"
\. I&Q}" @ )duﬂ \ L o ,,_ﬁ\ (@ @ @\) @7 KK_O) &;‘”_‘/

CaS for gﬁf N, (NP Qh&@f” AlBr;3




Concentrations and Dijutions Review Name hr

I.  What is the molarity of a solution that contains 4.53 moles of hthlum nitrate m 2.85 hters of solution?
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2 A flask contains 85.5 g C12H220n (sucrose) in 1.00 illels of solutlon What is the molal 1ty‘7
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3. Whatig the molanty ofa solutmn that contains 14.92 grams magnesium oxalate in 3.65 ml of solutlon‘?
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5. }fl add 25 mL of water to IZ% mL ofa 0.15 MHN%OH solution, what will the's moiarlty of the diluted solution be?
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6. Ifladd water to 100 mL of a 0.15 M NaOH sclution until the final volume is 150 mL, what will the 1*1"101&1:”1‘5)/10%2 iw i

the diluted solution be?
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7. Thave 345 mL of a 1.5 M NaCl solution. If' I boil the water until the volume c;f the solution is 250 ml., what will
the molarity of the solutlon be?
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8. Suppose 15.0 grams of glucose is dissolved in 410 grams of water., ”"’AQ%W m'ﬂ /
a. What is the % by mass of glucose in this solution?
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9. In a beaker, 45 mL of ethanol is mixed with 65-ml, of water.
a. What is the % by volume of ethanol? vl
~ o X K- “é)f‘? % @%; et g ;

_ /10 Jol S %m&ram{] |
Ezoé\yhat is the % yvolume of Waie:;ig 7 {Q@ ) ng’ X,f 5 ﬂ?d j % {L:}{AAQ’&’
S X A0 =[5, 1P paeder 1o "D Uy voluwme

; xﬁ i’ﬁ.}_ ;
L by vole




